
Name: ______________________________   

Operations with Integers

Add, subtract, multiply, or divide to find the
answer to each problem.

a. 2 + ( − 7 ) = __________

b. 0  − ( − 4 ) = __________

c. 56 ÷ ( − 8 ) = __________

d. − 63 ÷ 9  = __________ e. − 25 + ( − 4 ) = __________

f. − 4 × ( − 6 ) = __________ g. 14 ÷ ( − 7 ) =  = __________

h. − 14  + 20 = __________ i. − 5 × ( − 9 ) = __________

j. − 1 + ( − 5 ) = __________ k. 18  − ( − 4 ) = __________

l. − 12 × 6 = __________ m. − 3 × 100  = __________

n. Overnight, the temperature in
Toronto, Ontario dropped from 
3º C to -4º C. How many degrees
did the temperature change?         answer: _____________

o. The temperature in Fairbanks,
Alaska rose from -1º F to 9º F.
How many degrees did the
temperature change?         answer: _____________
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ANSWER KEY

Operations with Integers

Add, subtract, multiply, or divide to find the
answer to each problem.

a. 2 + ( − 7 ) = − 5

b. 0  − ( − 4 ) = 4

c. 56 ÷ ( − 8 ) = − 7

d. − 63 ÷ 9  = − 7 e. − 25 + ( − 4 ) = − 29

f. − 4 × ( − 6 ) = 24 g. 14 ÷ ( − 7 ) =  = − 2

h. − 14  + 20 = 6 i. − 5 × ( − 9 ) = 45

j. − 1 + ( − 5 )  = − 6 k. 18  − ( − 4 ) = 22

l. − 12 × 6 = − 72 m. − 3 × 100  = − 300

n. Overnight, the temperature in
Toronto, Ontario dropped from 
3º C to -4º C. How many degrees
did the temperature change?         answer:  7  º C

o. The temperature in Fairbanks,
Alaska rose from -1º F to 9º F.
How many degrees did the
temperature change?         answer:  10  º F
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